
Blossite (α-Cu2V2O7) Structure:
A2B7C2 oF88 43 b a3b b-001
This structure originally had the label A2B7C2 oF88 43 b a3b b. Calls to that address will be redirected here.
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Prototype Cu2O7V2

AFLOW prototype label A2B7C2 oF88 43 b a3b b-001

Mineral name blossite

ICSD 1831

Pearson symbol oF88

Space group number 43

Space group symbol Fdd2

AFLOW prototype command aflow --proto=A2B7C2_oF88_43_b_a3b_b-001

--params=a, b/a, c/a, z1, x2, y2, z2, x3, y3, z3, x4, y4, z4, x5, y5, z5, x6, y6, z6

• This structure was given the name “blossite” by (Robinson, 1987).

• Space group Fdd2 #43 does not fix the z = 0 plane. We do this by setting z2 = 3/4 for the copper atom.

Face-centered Orthorhombic primitive vectors
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B3 = (−x2 + y2 + z2) a1 +
(x2 − y2 + z2) a2 +
(x2 + y2 − z2) a3

= ax2 x̂ + by2 ŷ + cz2 ẑ (16b) Cu I
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B7 = (−x3 + y3 + z3) a1 +
(x3 − y3 + z3) a2 +
(x3 + y3 − z3) a3

= ax3 x̂ + by3 ŷ + cz3 ẑ (16b) O II

B8 = (x3 − y3 + z3) a1 +
(−x3 + y3 + z3) a2 −

(x3 + y3 + z3) a3

= −ax3 x̂− by3 ŷ + cz3 ẑ (16b) O II
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ẑ (16b) O II

B10 =
(
x3 + y3 + z3 + 1

4

)
a1 −(

x3 + y3 − z3 − 1
4

)
a2 −(

x3 − y3 + z3 − 1
4

)
a3

= −a
(
x3 − 1

4

)
x̂+b

(
y3 + 1

4

)
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B11 = (−x4 + y4 + z4) a1 +
(x4 − y4 + z4) a2 +
(x4 + y4 − z4) a3

= ax4 x̂ + by4 ŷ + cz4 ẑ (16b) O III

B12 = (x4 − y4 + z4) a1 +
(−x4 + y4 + z4) a2 −

(x4 + y4 + z4) a3

= −ax4 x̂− by4 ŷ + cz4 ẑ (16b) O III
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B15 = (−x5 + y5 + z5) a1 +
(x5 − y5 + z5) a2 +
(x5 + y5 − z5) a3

= ax5 x̂ + by5 ŷ + cz5 ẑ (16b) O IV

B16 = (x5 − y5 + z5) a1 +
(−x5 + y5 + z5) a2 −

(x5 + y5 + z5) a3

= −ax5 x̂− by5 ŷ + cz5 ẑ (16b) O IV
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B19 = (−x6 + y6 + z6) a1 +
(x6 − y6 + z6) a2 +
(x6 + y6 − z6) a3

= ax6 x̂ + by6 ŷ + cz6 ẑ (16b) V I

B20 = (x6 − y6 + z6) a1 +
(−x6 + y6 + z6) a2 −
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= −ax6 x̂− by6 ŷ + cz6 ẑ (16b) V I
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